Séquence de Nombres Linéaires (D)

Remplissez les nombres qui manquent de chaque nombre linéaire.

! ! !
8248 8273

Différence commune:

!
8298

!
8423

Différence commune:

| |
3280 3380

|
3880

! ! !
951

Différence commune:

|
1651

! ! !
6019

Différence commune:

|
5819

| | |
6631 6581 6531

Différence commune:

|
6331

Différence commune:

|
9740

|
9815

! ! !
4278

Différence commune:

! !
4243 4238

1
4233

! ! !
9320

Différence commune:

| |
9220 9120

|
8920

| |
8820 8720

|
8620

Mathslibres.com




Séquence de Nombres Linéaires (D) Réponses

Remplissez les nombres qui manquent de chaque nombre linéaire.

| | |
8223 8248 8273

Différence commune:

| | |
8298 8323 8348
25

|
8373

!
8423

| | |
2980 3080 3180

Différence commune:

| | |
3280 3380 3480

|
3580

|
3780

100

| | |
751 851 951

Différence commune:

| | |
1051 1151 1251
100

|
1351

|
1551

| | |
6119 6069 6019

Différence commune:

| | |
5969 5919 5869
-50

|
5819

!
5719

| | |
6631 6581 6531

Différence commune:

| |
6481 6431
-50

|
6331

| | |
9590 9615 9640

Différence commune:

| |
9665 9690
25

|
9740

| | |
4278 4273 4268

| |
4263 4258

|
4248

Différence commune:

-5

! ! !
9520 9420 9320

Différence commune:

| |
9220 9120
-100

|
8920
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